
Answer on Question 78735, Physics, Other 

Question: 

Rain is falling vertically with a velocity of 6 𝑘𝑚 ℎ⁄ . A person is walking with a 

velocity of 4 𝑘𝑚 ℎ⁄ . At what angle the person will hold the umbrella to get rid of 

rain? 

Solution: 

 

We can find the angle at which the person will hold the umbrella to get rid of rain 

from the velocity triangle: 

𝑡𝑎𝑛𝜃 =
𝑣𝑟𝑎𝑖𝑛

𝑣𝑝𝑒𝑟𝑠𝑜𝑛
, 

here, 𝑣𝑟𝑎𝑖𝑛 is the velocity of the rain with respect to the ground, 𝑣𝑝𝑒𝑟𝑠𝑜𝑛 is the 

velocity of the person, 𝑣𝑟𝑎𝑖𝑛 𝑤.𝑟.𝑡.𝑝𝑒𝑟𝑠𝑜𝑛 is the velocity of the rain with respect to the 

person, 𝜃 is the angle at which the person will hold the umbrella to get rid of rain. 

Then, we get: 

𝜃 = 𝑎𝑟𝑐𝑡𝑎𝑛 (
𝑣𝑟𝑎𝑖𝑛

𝑣𝑝𝑒𝑟𝑠𝑜𝑛
) = 𝑎𝑟𝑐𝑡𝑎𝑛 (

6 
𝑘𝑚
ℎ

4 
𝑘𝑚
ℎ

) = 56°. 

Answer: 

𝜃 = 56°. 
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